354184N >> MS156
E#HA : 2015-11-24 ENRIB 4 : 2022-04-07

Parts List ...«

3 Pl

A S ANy

Model: MS156 N=YYAP—F 524176

25 ILLURRAE Th

MARLIYAMA MFG. CO.,INC. 2015. 10.

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.



354184N >> MS156 >> B X
E#HA : 2015-11-24 ENRIB 4+ : 2022-04-07

IMAGE NOT AVAILABLE

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.



354184N >> MS156 >> BR >> 1. D5UH5—A 19 RA1 RV
EHH : 2015-11-24 ENRI B £ : 2022-04-07

1. MS156
DSUDT—A FaADAA~Y

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.



354184N >> MS156 >> B R >> 1. H5U00—2, 1924 KY

EHA : 2022-03-20 ENRIB 1+ : 2022-04-07

s (B 28 naEs (ke1-r HEEH A W | PEEE pak

1| 1 | 354184 MS156 1

1| 2 | 133414 nN3=% 1 MS156 MS156 0
1| 3 | 129644 97592 1 IF"/I/g129643 2 14000
1| 4 | 130908 HIIIHh 2 M8X130X16X18 |M8X130X16X18 510
1| 5 | 091264 F191397570F 1 W35.85 6774 720
1| 6 | 014177 oYv%" P35 1 P35 1¥1A P35 140
1| 7 | 129650 h394-274% 1 P/N129649 1900
1| 8 | 014039 oYy 1 S90 S90 200
1| 9 | 092241 FAWT =Y I0A 1 10794 280
1| 10 | 044428 TAYLNYEY 25X34X2 1| 5/25X34XT2 25X34XT2 35
1| 11 | 091376 77930 1 Gl1/4 12794 G1/4 330
1] 12 | 023170 0Yv% P12.5 1| 5|P12.5 P12.5 50
1| 13 | 125824 6hIR LR (+)WSW 4]  5|M6X16(SMK)  |M6X16(SMK) 30
1| 14 | 103383 h3099h 1 9100
1| 15 | 014487 AN'TUY 6304 2 #6304 #6304 950
1| 16 | 026625 LY== 2 MS253-4F 1050
1| 17 | 026536 0Yv%" 51.8X1.5 2 51.8X1.5 51.8X1.5 140
1| 18 | 024159 F41Y—Iv D204010 2 D204010 D204010 790
1|19 | 025130 ALYL 1 340
1| 20 | 125824 6hIR LR (+)WSW 8|  5[M6X16(SMK)  [M6X16(SMK) 30
1| 21| 122041 AVAYRIRET 2 3050
1] 22 | 120417 E ALK TR 2 IEVTHTY 5600
1| 23 | 016948 EAREY 9X22L 2 9X22 9X22L 300
1] 24 | 126259 B4 % 2| 5[17x24xT1.2  [17X24XT1.2 45
1| 25 | 025461 T4WY—Ib $10.5 24 7 2 $10.5247 $10.5247 350
1|26 | 126189 B4 % 2| 5[20x28xT1.2  [20X28XT1.2 45
1|27 | 028033 2 AL g 2 650
1| 28 | 130515 TININYFY 2 10.5X24X5 10.5X24X5 180
1|29 | 126201 AZIVESS VIR P 2|  5|m8 M8 60
1| 30 | 028034 TNy 1 170
1|31 | 026853 TNRYNYERY 2 s 75
1| 32 | 100015 Y=IbNYFY 2 2200
1| 33 | 028035 YU EMTY 1 MS153 13500
1| 34 | 016957 NATY Ty 2 680
1| 35| 015862 oY% P21 4 s|p21 P21 70
1| 36 | 108065 SYSE AT 2 iiXZS'SXSSEV“ 25X28.5X55 10900
1|37 | 629356 A7'mYY 2 MS154 38~43794 3300
1| 38 | 124277 F19RIAY 2 6.1X20XT2.8  |6.1X20XT2.8 520
1| 39 | 632586 EARYNYEVEINFAAV TR 2 437914 1800

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.




354184N >> MS156 >> B R >> 1. H5U00—2, 1924 KY

EHA : 2022-03-20 ENRIB 1+ : 2022-04-07

s (B2 nass | kea-k HAEH A W | PEEE pak
1| 40 | 027499 19 A{A"UHh5— 6X8.5X11 2 6X8.5X11 6X8.5X10L 560
1| 41 | 027500 FA9RAN VRN 2 MS253 340
1| 42 | 015849 N2¥h'% M6 22°)(SUS) 2| 5|M621 M6 35
1| 43 | 046365 FAavFIk 2| 5|me M6 110
1| 44 | 091108 NAT )Rty (D)ThA 2 45~4779 4 560
1| 45 | 022931 NATY Ty 2 370
1| 46 | 015862 oYy P21 2| slP21 P21 70
1| 47 | 023172 0Yv7" P22 2| s5|P22 P22 70
A 1] 48| 116798 | 028453 |V7'-1) 149A1 1 149A1 5100
1| 49 | 050165 e 1 5X5X20 YAvhY [5X5%20 YavhY 130
1|50 | 126258 6hHH L hSW 1 5/M8x20 M8X20 45
1| 51| 126198 B4 % 1|  5[8.5X30XT3.2  [8.5X30XT3.2 60
1|52 | 117633 -l 2 1450
1| 53 | 126530 6hHH I 2 M8X70X22 M8X70X22 130
1| 54 | 126201 AZIVESS VIR P 2|  5|m8 M8 60

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.




354184N >> MS156 >> B R >> 2. Fau7YRY . NFHIRY
EHHE : 2015-11-24 ENRI B £ : 2022-04-07

2. M5156
FIAIT IR, NFHR

g

O PR = Ao TR |
ol % R R
o, AN ke

~BERE., &7, DERNBERLT
ECANLTHEARTEC L,

cERBEE s Y EEREAREHIT
EIEIL, 12157

MR b

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.



354184N >> MS156 >> B >> 2. Fau7IYRY. NFHIRY

EHA : 2022-03-20 ENRIB 1 : 2022-04-07

s (B 28 naEs (ke1-r HAEH A W | PEEE pak
2| 1 | 120411 VYU HENTH IS 1 23200
2| 2 | 120276 /R 2 3~8794 2100
2| 3 | 120277 ATVY 2 670
2| 4 | 043723 A’V 16X1.5 2 16X1.5 330
2| 5 | 043360 TYY19A N % 2| 5/0.7-15L 120
2| 6 | 120278 AU¥YY 2 870
2| 7 | 105513 NIENY 2 170
2| 8 | 105514 N'Vlr—=2 2 130
2| 9 | 122120 VESVUR by 1 15900
2| 10 | 122122 F1943-Y 1 ::’_” LA ::’_” LA 90
2| 11 | 117609 WHIhT 2 G1/4XR1/4 G1/4XR1/4 1500
2| 12 | 131311 | 834086 |FIAVTYAUHI4T 1 13~35794 9450
2| 13 | 130910 *vy7 1 J0 530
2| 14 | 126195 anaens Ik 1 5/M103%a M10 30
2| 15 | 088975 6hITFIFI IR 1 M10X49 V4% |M10X49 150
2| 16 | 130911 =) 1 J0 1800
2| 17 | 126196 FAVTYN YN Y 1| 10[17x2.3 17X2.3 25
2| 18 | 105520 TYY1IAL N % 1 3.2-35L 3.2-35L 130
2| 19 | 105521 N S% 1 200
2| 20 | 117448 NEYY 1 4R 490
2| 21 | 117440 19 % 1 110
2| 22 | 105524 WUEVI 1 7h 180
2| 23 | os9ss2 AYE VR (+) o [MXILTN 2 g 20
2| 24 | 127284 PIEVRY (+) 2 FA2Y1 Max6 [M4X6 20
2| 25 | 118237 FAVTYA VR TA 1 2050
2| 26 | 126197 6hHH W (+)SW 2| 5|Méxs5 M6X55 35
2| 27 | 012256 FAVTYN YA UHYY 1 1250
2| 28 | 012255 FAVTYN YA B-HH % 1| 5/6.2X22XT0.6  |6.2X22Xt0.6 50
2| 29 | 595606 A R=NYEUEYR 1 30,31794 490
2| 30 | 016972 FAVTYN YA B-NVEY 1| 5/5X22X1.5 5X22Xt1.5 75
2| 31 | 011451 FAVTYA YA A=A 1 460
2| 32 | 016975 FAHTYN YA VE 1 560
2| 33 | 107238 AVER 1 12.7 @t'1/2) [12.7 (1/2) 640
2| 34 | 126246 AUt 1 1250
2| 35 | 014179 oYy P20 1| 5/P20 1Y1A P20 85
2| 36 | 121074 nN3=% 1 45

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.




354184N >> MS156 >> B >> 3. 7Y HEY

EHH : 2015-11-24 ENRI B £ : 2022-04-07

3. M5156
2Voew

-7-

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.



354184N >> MS156 >> B >> 3. 7Y HEY

EHA : 2022-03-20 ENRIB 1+ : 2022-04-07

s (B2 nass | kea-k HREH A W | PEEE pak
3| 1 | 106636 £219R4F—-ATM 1 g;ifsxmoo 7050
3| 2 | 103685 TATVLNYEY 1| s|li2x18.5xT1.5  [12x18.5%TL.5 45
3| 3 | 122017 F19RMRN—TH35T 1 G1l4m 2700
3| 4 | 104344 | 103572 |MRAFK-ATMA 1| |13x3m 5774 5600
13X19X3M
3| 5 | 103685 TATVLNYEY 1| s|li2x18.5xT15  [12x18.5%TL5 45
3| 6 | 107107 WY 1| [Dsr-300sT 170
3| 7 | 133410 M7YA{ Y443 1| [mst56/332 460

Copyright(C) MARUYAMA Mfg.Co.,Inc. All right reserved.




